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Abstract

We give proofs for the important formulae required in the article [1].
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1 Introduction

For the N = 3 superconformal diffeomorphism the Kiirillov-Kostant 2-form was given by
(5.1) in [1] as

2Ω(b,c) =

∫
dxd3θ

{
− d
[
2y
(

∆
1
2 b(f, ϕ) + cS(f, ϕ;x, θ)

)]
− cyDθ1Dθ2Dθ3y

}
.

We show that the top component of the anomalous term takes the form

[yεijkDiDjDky]θ3 = d[· · ·] + ∂x[· · ·].

*Professor emeritus, e-mail: aoyama.shogo@shizuoka.ac.jp
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The boundary term d[· · ·] is explicitly calculated so that we get we get the formula (5.2)
in [1] ∫

dxd3θ yDθ1Dθ2Dθ3y = dγ.

We also calculate the top component of theN = 3 super-Schwarzian derivative S(f, ϕ;x, θ).

2 Various formulae

f = h+ θiψi +
1

2
εijkθiθjtk + θ1θ2θ3ω,

ϕk = ηk + θkρ+
1

2
εijkθiθjτ + θk(θ · τ) + θ1θ2θ3rk,

ϕkϕl = ηkηl + θkηl − θlηk +
1

2
ηkεlijθiθjτ −

1

2
τlεkijθiθjτ + ηkθl(θ · τ)− ηlθk(θ · τ) + θkθlρ

2

+θ1θ2θ3(−ηkrl + ηlrk + 2εkliρτi),

ϕkϕlϕm = ηkηlηm + ηkηlθmρ+ (θkρηl − θlρηk)ηm +

+
(1

2
ηkηlεmijθiθjτ +

1

2
ηmηkεlijθiθjτ +

1

2
ηlηmεkijθiθjτ

)
+
(
ηkηlθm(θ · τ + ηmηkθl(θ · τ) + ηlηmθk(θ · τ

)
+ (θkθlηm + θlθmηk + θmθkηl)ρ

2

+θ1θ2θ3

(
ηkηlrm + εklmρ

3 + ρ(θ · τ)(2θmθkηl + 2θlθmηk) + 2ρτηkδlm

+(−ηkrl + ηlrk + 2εkliτiρ)ηm

)
,

εklmϕkϕlϕm = εklmηkηlηm + 3θkηlηmρ+ 3
(
− (θ · η)2τ + εklmθkθlηmρ

2 + εklmθkηlηm(θ · η)
)

+3θ1θ2θ3

(
εklmηkηlrm − 4(η · τ)ρ+ 2ρ3

)
,

Dlf = ψl + (θl∂xh+ εlijθitj) + (θlθi∂xψi +
1

2
εlijθiθjω) + θ1θ2θ3∂xtl,

Dlϕk = δlkρ+
(
θl∂xηk − εlkjθjτ + δlk(θ · τ)− θkτl

)
+ (θlθk∂xρ+

1

2
εlijθiθjrk)

+θ1θ2θ3(δlk∂xτ + εlkj∂xτj),

ϕkDlϕk = ηlρ+ θl

(
− θl(η · ∂η) + ρ2

)
− εlijθiηjτ + ηl(θ · τ) + τl(θ · η)

+θl

(
(θ · η)∂xρ− (θ · ∂xη)ρ+ 2(θ · τ)ρ

)
+

1

2
εlijθiθj

(
(η · r)− τρ

)
+θ1θ2θ3

[
− ηl∂xτ − τ∂xηl + 2rlρ+ 4ττl + εlij(−ηi∂xτj + ∂xηiτj − τiτj)

]
,

εpnlDnDlϕk = −2δpkτ − 2εpklτl

+
(
− 2εpklθl∂xρ− 2θprk

)
+
(
εpnlθnθl∂

2
xηk + 2θkθp∂xτ − εpklθl(θ · ∂xτ) + εpmlθkθm∂xτl + εkmlθpθm∂xτl

)
+εpmlθmθlθk∂

2
xρ,

(εpnlDnDlϕk)Dpϕk = −6
[
ρτ +

(
2(θ · τ)τ +

1

2
εpnlθpτnτl)

)
+
(1

2
εpnlθpθnrlτ + (θ · r)(θ · τ) + εpnlθpθnτl∂xρ−

1

2
εpnlθpθn(∂xτl)ρ

)
−1

6
εpnlθpθnθl

(
3τ∂xτ + 3(τ · ∂xτ)− 2(∂xρ)2 + ρ∂2

xρ− (r · r)
)]
.

Constraints due to the superconformal conditions Dlf = ϕkDlϕk:

∂xh = −(η · ∂xη) + ρ2, ψl = ηlρ,
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ti = −ηiτ − εijkηjτk, ω = (η · r)− τρ,

τi = ∂xηi, 0 = ρri + ττi +
1

2
εijkτjτk.

Calculation of y = df+(ϕ·dϕ)
∆ :

df + (ϕ · dϕ)

= dh+ (η · dη) + 2ρ(θ · dη)− εijkθiθjdηkτ + 2(θ · dη)(θ · τ)

+θ1θ2θ3

(
2(dη · r) + 2ρdτ − 4dρτ

)
,

∆ = ∂xf + (ϕ · ∂xϕ) ( Note that DlϕkDlϕm = δkm∆ )

= ρ2 + 2ρ(θ · τ)− εijkθiθjτkτ + 2(θ · τ)2

+θ1θ2θ3[2(r · τ) + 2ρ∂xτ − 4∂ρτ ],

1

∆
=

1

ρ2
− 2

ρ3
(θ · ∂η) +

1

ρ4
εijkθiθj∂xηkτ +

2

ρ4
(θ · ∂xη)2

−θ1θ2θ3
1

ρ4

(
2(r · ∂xη) + 2ρ∂xτ − 4∂xρτ

)
,

∆
1
2 = ρ+ θτ − 1

2ρ
εijkθiθjτkτ +

1

2ρ
(θ · τ)2 + θ1θ2θ3

[1

ρ
(r · τ) + ∂xτ − 2

∂xρ

ρ
τ − 1

2ρ2
(θ · τ)3

]
y =

1

ρ2
(dh+ (η · dη))

− 2

ρ3
(dh+ (η · dη))(θ · ∂η) +

2

ρ
(θ · dη)

+(dh+ (η · dη))
1

ρ4

(
εijkθiθj∂ηkτ + 2(θ · ∂xη)2

)
− 2

ρ2
(θ · dη)(θ · ∂η)− 1

ρ2
εijkθiθjdηkτ

+θ1θ2θ3

[
− 1

ρ4
(dh+ (η · dη))

(
2(r · ∂xη) + 2ρ∂xτ − 4∂xρτ

)
+

1

ρ2

(
2(dη · r) + 2ρdτ − 4dρτ

)]
.

Using

εijkDiDjDk = εijk[∂i∂j∂k + 3θi∂j∂k∂x + 3θiθj∂k∂
2
x + θiθjθk∂

3
x],

we get

[εijkDiDjDky]θ0

=
6

ρ4
(dh+ (η · dη))

(
2(r · ∂xη) + 2ρ∂xτ − 4∂xρτ

)
− 6

ρ2

(
2(dη · r) + 2ρdτ − 4dρτ

)
,

[εijkDiDjDky]θ1

= 12∂x

[ 1

ρ4
(dh+ (η · dη))

(
− (θ · ∂xη)τ + εijkθi∂xηj∂xηk

)
+

1

ρ2

(
(θ · dη)τ − εijkθidηj∂xηk

)]
,

[εijkDiDjDky]θ2

= 6εijkθiθj∂
2
x

[
− 1

ρ3
(dh+ (η · dη))∂xηk +

1

ρ
dηk

]
,

[εijkDiDjDky]θ3

= εijkθiθjθk∂
3
x

[ 1

ρ2
(dh+ (η · dη))

]
.
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Then we have

[yεijkDiDjDky]θ3

= [y]θ0 × [εijkDiDjDky]θ3 + [y]θ1 × [εijkDiDjDky]θ2

+[y]θ2 × [εijkDiDjDky]θ1 + [y]θ3 × [εijkDiDjDky]θ0 ,

with

[y]θ0 × [εijkDiDjDky]θ3

= θ1θ2θ3

{
6
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
∂3
x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]}
,

[y]θ1 × [εijkDiDjDky]θ2

= θ1θ2θ3

{
24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]∂xηk
ρ

∂2
x

([dh
ρ2

+
(η
ρ
· dη
ρ

)]∂xηk
ρ

)
+24

(dη
ρ
· ∂2

x(
dη

ρ
)
)
− 48

[dh
ρ2

+
(η
ρ
· dη
ρ

)](∂xη
ρ
· ∂2

x(
dη

ρ
)
)}
,

[y]θ2 × [εijkDiDjDky]θ1

= θ1θ2θ3

{
48
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
∂x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

+12
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
×
[
− 4εlmn

∂xηl
ρ

τ

ρ
∂x(

dηm
ρ

∂xηm
ρ

)− 4εlmn∂x(
dηl
ρ

τ

ρ
)
∂ηm
ρ

∂ηn
ρ

+2
(∂xη
ρ

τ

ρ
· ∂x(

dη

ρ

τ

ρ
)
)
− 2
(
∂x(

∂xη

ρ

τ

ρ
) · dη

ρ

τ

ρ

)
−8
(∂xη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)]
+12

[
2
(dη
ρ
· dη
ρ

)τ
ρ

∂xτ

ρ
+ 2
(dη
ρ
· dη
ρ

)(η
ρ
· ∂

2
xη

ρ

)
+2
(dη
ρ
· ∂xη
ρ

)(∂xη
ρ
· ∂x(

dη

ρ
)
)
− 2
(dη
ρ
· ∂xη
ρ

)(
∂x(

∂xη

ρ
) · dη

ρ

)
+4εlmn

dηl
ρ

d∂xηm
ρ

∂xηn
ρ

τ

ρ

]}
,

[y]θ3 × [εijkDiDjDky]θ0

= θ1θ2θ3

{
48
[dh
ρ2

+
(η
ρ
· dη
ρ

)][(r
ρ
· ∂xη
ρ

)(dη
ρ
· r
ρ

)
+ (

∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)

+
(r
ρ
· ∂xη
ρ

)
(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)−

(dη
ρ
· r
ρ

)
(
∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)
]

−24
[(dη

ρ
· r
ρ

)
+
dτ

ρ
− 2

dρ

ρ

τ

ρ

]2}
= θ1θ2θ3

{
48
[dh
ρ2

+
(η
ρ
· dη
ρ

)][
(
∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)

−
(dη
ρ
· ∂xη
ρ

)τ
ρ

(
∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)

−1

2
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)

+
1

2
εlmn

∂xηl
ρ

∂xηm
ρ

dηn
ρ

(
∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)
]

−24
[
2
(dη
ρ
· dη
ρ

)τ
ρ

∂xη1

ρ

∂xη2

ρ

∂xη3

ρ
+ (

dτ

ρ
− 2

dρ

ρ

τ

ρ
)2
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+2
((dη

ρ
· ∂xη
ρ

)τ
ρ
− 1

2
εlmn

∂xηl
ρ

∂xηm
ρ

dηn
ρ

)
(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)
]}
.

3 Calculation of [yεijkDiDjDky]θ3

Using the result for this quantity in the previous we find∫
dx2dθ1dθ2dθ3[yεijkDiDjDky]θ3 =

∫
dx2(Lτ0 + Lτ1 + Lτ2),

in which the Lagrangian density is expanded in terms of the fermionic field component τ .

Lτ0 = 6
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
∂3
x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
+48

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
∂x

[dh
ρ2

+
(η
ρ
· dη
ρ

)](∂xη
ρ
· ∂x(

∂xη

ρ
)
)

+24
(dη
ρ
· ∂2

x

dη

ρ

)
− 48

[dh
ρ2

+
(η
ρ
· dη
ρ

)](∂xη
ρ
· ∂2

x(
dη

ρ
)
)

−96
[dh
ρ2

+
(η
ρ
· dη
ρ

)](∂xη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
+24

(dη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
−24

(dη
ρ
· ∂xη
ρ

)(
∂x(

dη

ρ
) · ∂xη

ρ

)
+ 24

(dη
ρ
· ∂xη
ρ

)(dη
ρ
· ∂x(

∂xη

ρ
)
)
,

Lτ1 = 48
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
∂x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

+12
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
×
[
− 4εlmn

∂xηl
ρ

τ

ρ
∂x(

dηm
ρ

∂xηm
ρ

)− 4εlmn∂x(
dηl
ρ

τ

ρ
)
∂ηm
ρ

∂ηn
ρ

+48εlmn
dηl
ρ

d∂xηm
ρ

∂xηn
ρ

τ

ρ

−24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

(
d(
τ

ρ
)− dρ

ρ

τ

ρ

)
+24

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

dηn
ρ

(
∂x(

τ

ρ
)− ∂xρ

ρ

τ

ρ

)
−48

(dη
ρ
· dη
ρ

)τ
ρ

∂xη1

ρ

∂xη2

ρ

∂xη3

ρ

+24εlmn
∂xηl
ρ

∂xηm
ρ

dηn
ρ

(
d(
τ

ρ
)− dρ

ρ

τ

ρ

)]
,

Lτ2 = 24
[dh
ρ2

+
(η
ρ
· dη
ρ

)][(∂xη
ρ

τ

ρ
· ∂x(

dη

ρ

τ

ρ
)
)
−
(
∂x(

∂xη

ρ

τ

ρ
) · dη

ρ

τ

ρ

)]
+24

(dη
ρ
· dη
ρ

)τ
ρ

∂xτ

ρ

+48
[dh
ρ2

+
(η
ρ
· dη
ρ

)][
(
∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)−

(dη
ρ
· ∂xη
ρ

)τ
ρ

(
∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)
]

−24(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)2 − 48

(dη
ρ
· ∂xη
ρ

)τ
ρ

dτ

ρ

= 24
(dη
ρ
· dη
ρ

)τ
ρ

∂xτ

ρ
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+48
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
(
∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)

−24(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)2 − 48

(dη
ρ
· ∂xη
ρ

)τ
ρ

dτ

ρ
.

These Lτ0 , Lτ1 , Lτ2 are calculated in Sections 3.1 , 3.2, and 3.3 respectively. Each of
them is shown to take a form d[· · ·] + ∂x[· · ·].

3.1 Lτ0

The Lagrangian density to O(τ0) has been given just above as

Lτ0 = 6
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
∂3
x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
+48

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
∂x

[dh
ρ2

+
(η
ρ
· dη
ρ

)](∂xη
ρ
· ∂x(

∂xη

ρ
)
)

+24
(dη
ρ
· ∂2

x

dη

ρ

)
− 48

[dh
ρ2

+
(η
ρ
· dη
ρ

)](∂xη
ρ
· ∂2

x(
dη

ρ
)
)

−96
[dh
ρ2

+
(η
ρ
· dη
ρ

)](∂xη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
+24

(dη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
−24

(dη
ρ
· ∂xη
ρ

)(
∂x(

dη

ρ
) · ∂xη

ρ

)
+ 24

(dη
ρ
· ∂xη
ρ

)(dη
ρ
· ∂x(

∂xη

ρ
)
)
.

First of all we calculate the the first term in Lτ0 , which may be written as −6A∂xA with

A = ∂x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
=
dρ2

ρ2
− ∂xρ

2

ρ2

dh

ρ2
− dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 2
(
∂x(

η

ρ
) · d(

η

ρ
)
)
.

A∂xA may be put in the expansion form in η

A∂xA = [A∂xA]η0 + [A∂xA]η2 + [A∂xA]η4 ,

in which

[A∂xA]η0 = (
dρ2

ρ2
− ∂xρ

2

ρ2

dh

ρ2
)∂x(

dρ2

ρ2
− ∂xρ

2

ρ2

dh

ρ2
)

= d
[

log ρ2∂xd(log ρ2) + ∂x(
1

ρ2
)∂x(

1

ρ2
)dhρ2

]
· · · · · · d− boundary

− ∂x(
1

ρ2
)∂x(

1

ρ2
)dhd(η · ∂xη)︸ ︷︷ ︸

O(η2)

,

[A∂xA]η2 = 2(
dρ2

ρ2
− ∂xρ

2

ρ2

dh

ρ2
)∂x

[
− dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 2
(
∂x(

η

ρ
) · d(

η

ρ
)
)]
,

[A∂xA]η4 =
[
− dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 2
(
∂x(

η

ρ
) · d(

η

ρ
)
)]

×∂x
[
− dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 2
(
∂x(

η

ρ
) · d(

η

ρ
)
)]
.

Using this we expand Lτ0 in η as

Lτ0 = Lτ0,η0 + Lτ0,η2 + Lτ0,η4 + Lτ0,η6 ,
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in which

Lτ0,η0 = −6[A∂xA]η0 ,

Lτ0,η2 = −6[A∂xA]η2

+48
dh

ρ2
∂x(

dh

ρ2
)
(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

+24
(dη
ρ
· ∂2

x

dη

ρ

)
− 48

dh

ρ2

(∂xη
ρ
· ∂2

x(
dη

ρ
)
)
,

Lτ0,η4 = −6[A∂xA]η4

+48
dh

ρ2
∂x

(η
ρ
· dη
ρ

)(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

+ 48
(η
ρ
· dη
ρ

)
∂x(

dh

ρ2
)
(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

−48
(η
ρ
· dη
ρ

)(∂xη
ρ
· ∂2

x(
dη

ρ
)
)

−96
dh

ρ2

(∂xη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
+24

(dη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
−24

(dη
ρ
· ∂xη
ρ

)(
∂x(

dη

ρ
) · ∂xη

ρ

)
+ 24

(dη
ρ
· ∂xη
ρ

)(dη
ρ
· ∂x(

∂xη

ρ
)
)
,

Lτ0,η6 = 48
(η
ρ
· dη
ρ

)
∂x

(η
ρ
· dη
ρ

)(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

−96
(η
ρ
· dη
ρ

)(∂xη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
.

3.1.1 Lτ0,η0

Summary for Lτ0,η0� �
Lτ0,η0 = −6d

[
log ρ2∂xd(log ρ2) + ∂x(

1

ρ2
)∂x(

1

ρ2
)dhρ2

]
+ 6∂x(

1

ρ2
)∂x(

1

ρ2
)dhd(η · ∂xη)︸ ︷︷ ︸

O(η2)� �
3.1.2 Lτ0,η2

Terms with dh

= 12
∂xρ

2

ρ2

dh

ρ2
∂x

[
− dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 2
(
∂x(

η

ρ
) · d(

η

ρ
)
)]

+48
dh

ρ2

dρ2

ρ2

[(
∂x(

η

ρ
) +

∂xρ

ρ

η

ρ
· ∂2

x(
η

ρ
) + ∂x(

∂xρ

ρ
)
η

ρ
+
∂xρ

ρ
∂x(

η

ρ
)
)]

− 48
dh

ρ2

d(η · ∂xη)

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

︸ ︷︷ ︸
O(η4)

−48
dh

ρ2

(
∂x(

η

ρ
) +

∂xρ

ρ

η

ρ
· ∂2

x(d(
η

ρ
) +

dρ

ρ

η

ρ
)
)

= −12
∂xρ

2

ρ2

dh

ρ2
∂x(

dρ2

ρ2
)
(η
ρ
· ∂x(

η

ρ
)
)

(1)
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−12
∂xρ

2

ρ2

dh

ρ2

dρ2

ρ2

(η
ρ
· ∂2

x(
η

ρ
)
)

(2)

+24(
∂xρ

2

ρ2

dh

ρ2
)∂x

(
∂x(

η

ρ
) · d(

η

ρ
)
)

(3)

+48
dh

ρ2

dρ2

ρ2

[(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

(4)

+∂x(
∂xρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

) (5)

+
∂xρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)

(6)

+
∂xρ

ρ

∂xρ

ρ

(η
ρ
· ∂x(

η

ρ
)
)]

(7)

− 48
dh

ρ2

d(η · ∂xη)

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

︸ ︷︷ ︸
O(η4)

−48
dh

ρ2

[(
∂x(

η

ρ
) · ∂2

xd(
η

ρ
)
)

(8)

+
∂xρ

ρ

dρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)

(9)

+2
∂xρ

ρ
∂x(

dρ

ρ
)
(η
ρ
· ∂x(

η

ρ
)
)

(10)

+∂2
x(
dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
(11)

+
dρ

ρ

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

(12)

+
∂xρ

ρ

(η
ρ
· ∂2

xd(
η

ρ
)
)]

(13)

Terms with dh,which comes from Lτ0,η0

= 6
∂xρ

2

ρ2

∂xρ
2

ρ2

dh

ρ2

[
d
(η
ρ
· ∂xη
ρ

)
+
dρ2

ρ2

(η
ρ
· ∂xη
ρ

)]
= −d

[
6
∂xρ

2

ρ2

∂xρ
2

ρ2

dh

ρ2

(η
ρ
· ∂xη
ρ

)]
· · · · · · d− boundary

+12
∂xρ

2

ρ2
d(
∂xρ

2

ρ2
)
dh

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

(14)

+12
∂xρ

2

ρ2

∂xρ
2

ρ2

dh

ρ2

dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)
. (15)

The terms (1) ∼ (15) are appropriately combined to get cancelled each other.

(1) + (10) + (14) = −48
∂xρ

2

ρ2

dh

ρ2
∂x(

dρ2

ρ2
)
(η
ρ
· ∂x(

η

ρ
)
)
, (A)

(2) + (6) + (9) = 0,

(5) + (7) + (15)

= −24∂x(
dh

ρ2

∂xρ
2

ρ2
)
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 24
d∂xh

ρ2

∂xρ
2

ρ2

dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

= −24∂x(
dh

ρ2

∂xρ
2

ρ2
)
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

(B)
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− 24
d(η · ∂xη)

ρ2

∂xρ
2

ρ2

dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

︸ ︷︷ ︸
O(η4)

,

(4) + (12) = 24
dh

ρ2

dρ2

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)
, (C)

(11) = 48
d∂xh

ρ2
∂x(

dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
−48

dh

ρ2

∂xρ
2

ρ2
∂x(

dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
+ 48

dh

ρ2
∂x(

dρ

ρ
)
(
∂2
x(
η

ρ
) · η
ρ

)
= 48

dρ2

ρ2
∂x(

dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
︸ ︷︷ ︸

without dh

− 48
d(η · ∂xη)

ρ2
∂x(

dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
︸ ︷︷ ︸

O(η4)

−48
dh

ρ2

∂xρ
2

ρ2
∂x(

dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
+ 48

dh

ρ2
∂x(

dρ

ρ
)
(
∂2
x(
η

ρ
) · η
ρ

)
, (D)

(3) + (13) = d
[
48
dh

ρ2

∂xρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)]

· · · · · · · · · d− boundary

−48
dh

ρ2

dρ2

ρ2

∂xρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)

(E)

+48
dh

ρ2
d(
∂xρ

ρ
)
(η
ρ
· ∂2

x(
η

ρ
)
)

(F )

+24
∂xρ

2

ρ2

dh

ρ2

(
∂x(

η

ρ
) · d∂x(

η

ρ
)
)
, (G)

(8) = d
[
48
dh

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)]

−48
dh

ρ2

dρ2

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

+ 48
dh

ρ2

(
∂xd(

η

ρ
) · ∂2

x(
η

ρ
)
)

= d
[
48
dh

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)]

−48
dh

ρ2

dρ2

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

−48
d∂xh

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)

+48
dh

ρ2

∂xρ
2

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)

−48
dh

ρ2

(
∂2
xd(

η

ρ
) · ∂x(

η

ρ
)
)

(the last term = −(8))

= d
[
24
dh

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)]

· · · · · · · · · d− boundary

−24
dh

ρ2

dρ2

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

(H)

− 24
dρ2

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)

︸ ︷︷ ︸
without dh

+ 24
d(η · ∂xη)

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)

︸ ︷︷ ︸
O(η4)

+24
dh

ρ2

∂xρ
2

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)
. (I)
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Further cancellations occur among the terms (A) ∼ (I).

(A) + (D) + (F ) = −48
∂xρ

2

ρ2

dh

ρ2
∂x(

dρ

ρ
)
(η
ρ
· ∂x(

η

ρ
)
)
,

(B) + (E) = −24∂x

{dh
ρ2

∂xρ
2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)}dρ2

ρ2
,

(C) + (H) = 0,

(G) + (I) = 0.

Summary 1 for Lτ0,η2� �
[The terms with dh]η2

= −d
[
6
∂xρ

2

ρ2

∂xρ
2

ρ2

dh

ρ2

(η
ρ
· ∂xη
ρ

)]
+d
[
48
dh

ρ2

∂xρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)]

+d
[
24
dh

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)]

− 48
dh

ρ2

d(η · ∂xη)

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

︸ ︷︷ ︸
O(η4)

− 24
d(η · ∂xη)

ρ2

∂xρ
2

ρ2

dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

︸ ︷︷ ︸
O(η4)

+ 48
dρ2

ρ2
∂x(

dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
︸ ︷︷ ︸

without dh

− 48
d(η · ∂xη)

ρ2
∂x(

dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
︸ ︷︷ ︸

O(η4)

− 24
dρ2

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)

︸ ︷︷ ︸
without dh

+ 24
d(η · ∂xη)

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)

︸ ︷︷ ︸
O(η4)� �

Terms without dh

= −12
dρ2

ρ2
∂x

[
− dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 2
(
∂x(

η

ρ
) · d(

η

ρ
)
)]

+24
(dη
ρ
· ∂2

x

dη

ρ

)
= 12

dρ2

ρ2
∂x

[dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)]

−24
dρ2

ρ2

[(
∂2
x(
η

ρ
) · d(

η

ρ
)
)

+
(
∂x(

η

ρ
) · ∂xd(

η

ρ
)
)]

−24
(
∂xd(

η

ρ
) + ∂x(

dρ

ρ

η

ρ
) · ∂xd(

η

ρ
) + ∂x(

dρ

ρ

η

ρ
)
)

= 12
dρ2

ρ2
∂x

[dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)]

(1)
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−24
dρ2

ρ2

[(
∂2
x(
η

ρ
) · d(

η

ρ
)
)

(2)

+
(
∂x(

η

ρ
) · ∂xd(

η

ρ
)
)]

(3)

−24
[(
∂xd(

η

ρ
) · ∂xd(

η

ρ
)
)

(4)

+
1

2
∂x(

dρ2

ρ2
)
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

(5)

−∂x(
dρ2

ρ2
)
(
∂xd(

η

ρ
) · η
ρ

)
(6)

−dρ
2

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)]
. (7)

Terms without dh, which come from Lτ0,η2

= 24
dρ2

ρ2
∂x(

dρ2

ρ2
)
(
∂x(

η

ρ
) · η
ρ

)
− 24

dρ2

ρ2

(
d∂x(

η

ρ
) · ∂x(

η

ρ
)
)
. (8)

The terms without (1) ∼ (7) are appropriately combined to get canceled each other.

(1) + (5) = −24∂x(
dρ2

ρ2
)
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)
,

(2) + (6) = d
{

24
dρ2

ρ2

(
∂2
x(
η

ρ
) · η
ρ

)}
· · · · · · · · · d− boundary

−24
dρ2

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)
,

(3) + (7) = 48
dρ2

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)
,

(4) = d
{
− 24

(
∂x(

η

ρ
) · ∂xd(

η

ρ
)
)}
. · · · · · · · · · d− boundary

These are summed with (8) to give

Summary 2 for Lτ0,η2� �
[The terms without dh]η2

= d
{

24
dρ2

ρ2

(
∂2
x(
η

ρ
) · η
ρ

)}
− d
{

24
(
∂x(

η

ρ
) · ∂xd(

η

ρ
)
)}

� �
3.1.3 Lτ0,η4

Terms with dh

= 48
dh

ρ2
∂x

(η
ρ
· dη
ρ

)(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

+ 48
(η
ρ
· dη
ρ

)
∂x(

dh

ρ2
)
(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

−96
dh

ρ2

(∂xη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
= 48

dh

ρ2

[(
∂x(

η

ρ
) · d(

η

ρ
)
)

+
(η
ρ
· ∂xd(

η

ρ
)
)](∂xη

ρ
· ∂x(

∂xη

ρ
)
)

+48
(η
ρ
· dη
ρ

)
(
d∂xh

ρ2
− dh

ρ2

∂xρ
2

ρ2
)
(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

−96
dh

ρ2

(
∂x(

η

ρ
) +

∂xρ

ρ

η

ρ
· d(

η

ρ
) +

dρ

ρ

η

ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
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= 48
dh

ρ2

[(
∂x(

η

ρ
) · d(

η

ρ
)
)

+
(η
ρ
· ∂xd(

η

ρ
)
)](∂xη

ρ
· ∂x(

∂xη

ρ
)
)

(1)

+ 48
(η
ρ
· dη
ρ

)dρ2

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

︸ ︷︷ ︸
without dh

− 48
(η
ρ
· dη
ρ

)d(η · ∂xη)

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

︸ ︷︷ ︸
O(η6)

−48
(η
ρ
· dη
ρ

)dh
ρ2

∂xρ
2

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

(2)

−96
dh

ρ2

[(
∂x(

η

ρ
) · d(

η

ρ
)
)

(3)

+
∂xρ

ρ

(η
ρ
· d(

η

ρ
)
)

(4)

+
dρ

ρ

(
∂x(

η

ρ
) · η
ρ

)](∂xη
ρ
· ∂x(

∂xη

ρ
)
)
. (5)

From Summary 1for Lτ0,η2 we have

the terms with dh

= −48
dh

ρ2

d(η · ∂xη)

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

= −48
dh

ρ2

[
d
(η
ρ
· ∂x(

η

ρ
)
)

(6)

+
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)](∂xη

ρ
· ∂x(

∂xη

ρ
)
)
. (7)

The terms (1) ∼ (6) are combined to get canceled each other.

(1 + (3) + (6) = 0,

(2) + (4) = 0,

(5) + (7) = 0.

Summary 1 for Lτ0,η4� �
[The terms with dh]η4

= 48
(η
ρ
· dη
ρ

)dρ2

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

︸ ︷︷ ︸
without dh

− 48
(η
ρ
· dη
ρ

)d(η · ∂xη)

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

︸ ︷︷ ︸
O(η6)� �

Terms without dh

= −6
[
− dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 2
(
∂x(

η

ρ
) · d(

η

ρ
)
)]

×∂x
[
− dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

+ 2
(
∂x(

η

ρ
) · d(

η

ρ
)
)]

(1)

−48
(η
ρ
· dη
ρ

)(∂xη
ρ
· ∂2

x(
dη

ρ
)
)

(2)

+24
(dη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
(3)
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−24
(dη
ρ
· ∂xη
ρ

)(
∂x(

dη

ρ
) · ∂xη

ρ

)
(4)

+24
(dη
ρ
· ∂xη
ρ

)(dη
ρ
· ∂x(

∂xη

ρ
)
)
. (5)

Calculate each line to find

(1) = −6
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)2
∂x(

dρ2

ρ2
) < 1 >

+6
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)
· 2
(
∂2
x(
η

ρ
) · d(

η

ρ
)
)

< 2 >

+6
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)
· 2
(
∂x(

η

ρ
) · d∂x(

η

ρ
)
)

< 3 >

+12
(
∂x(

η

ρ
) · d(

η

ρ
)
)
∂x(

dρ2

ρ2
)
(η
ρ
· ∂x(

η

ρ
)
)

< 4 >

+12
(
∂x(

η

ρ
) · d(

η

ρ
)
)dρ2

ρ2

(η
ρ
· ∂2

x(
η

ρ
)
)

< 5 >

−24
(
∂x(

η

ρ
) · d(

η

ρ
)
)
∂x

(
∂x(

η

ρ
) · d(

η

ρ
)
)
, < 6 >

(2) = −48
(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) +

∂xρ

ρ

η

ρ
· ∂2

x(d(
η

ρ
) +

dρ

ρ

η

ρ
)
)

= −48
(η
ρ
· d(

η

ρ
)
)[(

∂x(
η

ρ
) · d∂2

x(
η

ρ
)
)

< 7 >

+
∂xρ

ρ

(η
ρ
· d∂2

x(
η

ρ
)
)

< 8 >

+
(
∂x(

η

ρ
) · η
ρ

)
∂2
x(
dρ

ρ
) < 9 >

+
(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)dρ
ρ

< 10 >

+
∂xρ

ρ

dρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)

< 11 >

+2
∂xρ

ρ
∂x(

dρ

ρ
)
(η
ρ
· ∂x(

η

ρ
)
)
, < 12 >

(3) = 24
(
d(
η

ρ
) +

dρ

ρ

η

ρ
· d(

η

ρ
) +

dρ

ρ

η

ρ

)
×
(
∂x(

η

ρ
) +

∂xρ

ρ

η

ρ
· ∂x(

∂xη

ρ
) +

∂xρ

ρ

∂xη

ρ

)
= 24

[(
d(
η

ρ
) · d(

η

ρ
)
)

+ 2
dρ

ρ

(η
ρ
· d(

η

ρ
)
)]

×
[(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

+
∂2
xρ

ρ

(
∂x(

η

ρ
) · η
ρ

)
+
∂xρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)

+ 2(
∂xρ

ρ
)2
(η
ρ
· ∂x(

η

ρ
)
)]

= 24
(
d(
η

ρ
) · d(

η

ρ
)
)(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

< 13 >

+24∂x(
∂xρ

ρ
)
(
d(
η

ρ
) · d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
< 14 >

+24(
∂xρ

ρ
)2
(
d(
η

ρ
) · d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
< 15 >

+24
∂xρ

ρ

(
d(
η

ρ
) · d(

η

ρ
)
)(η

ρ
· ∂2

x(
η

ρ
)
)

< 16 >

+48(
∂xρ

ρ
)2
(
d(
η

ρ
) · d(

η

ρ
)
)(η

ρ
· ∂x(

η

ρ
)
)

< 17 >

+48
dρ

ρ

(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

< 18 >

13



+48
dρ

ρ
∂x(

∂xρ

ρ
)
(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
< 19 >

+48
dρ

ρ
(
∂xρ

ρ
)2
(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
< 20 >

+48
dρ

ρ

∂xρ

ρ

(η
ρ
· d(

η

ρ
)
)(η

ρ
· ∂2

x(
η

ρ
)
)

< 21 >

+96
dρ

ρ
(
∂xρ

ρ
)2
(η
ρ
· d(

η

ρ
)
)(η

ρ
· ∂x(

η

ρ
)
)
, < 22 >

(4) = −24
(
d(
η

ρ
) +

dρ

ρ

η

ρ
· ∂x(

η

ρ
) +

∂xρ

ρ

η

ρ

)
×
(
∂xd(

η

ρ
) + ∂x(

dρ

ρ
)
η

ρ
+
dρ

ρ
∂x(

η

ρ
) · ∂x(

η

ρ
) +

∂xρ

ρ

η

ρ

)
= −24

[(
d(
η

ρ
) · ∂x(

η

ρ
)
)

+
dρ

ρ

(η
ρ
· ∂x(

η

ρ
)
)

+
∂xρ

ρ

(
d(
η

ρ
) · η
ρ

)]
×
[(
d∂x(

η

ρ
) · ∂x(

η

ρ
)
)

+
∂xρ

ρ

(
d∂x(

η

ρ
) · η
ρ

)
+ ∂x(

dρ

ρ
)
(η
ρ
· ∂x(

η

ρ
)
)

+
dρ

ρ

∂xρ

ρ

(
∂x(

η

ρ
) · η
ρ

)
= −24

(
d(
η

ρ
) · ∂x(

η

ρ
)
)(
d∂x(

η

ρ
) · ∂x(

η

ρ
)
)

< 23 >

−24
∂xρ

ρ

(
d(
η

ρ
) · ∂x(

η

ρ
)
)(
d∂x(

η

ρ
) · η
ρ

)
< 24 >

+24∂x(
dρ

ρ
)
(
d(
η

ρ
) · ∂x(

η

ρ
)
)(η

ρ
· ∂x(

η

ρ
)
)

< 25 >

+24
dρ

ρ

∂xρ

ρ

(
d(
η

ρ
) · ∂x(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
< 26 >

−24
dρ

ρ

(η
ρ
· ∂x(

η

ρ
)
)(
d∂x(

η

ρ
) · ∂x(

η

ρ
)
)

< 27 >

−24
dρ

ρ

∂xρ

ρ

(η
ρ
· ∂x(

η

ρ
)
)(
d∂x(

η

ρ
) · η
ρ

)
< 28 >

−24
dρ

ρ
∂x(

dρ

ρ
)
(η
ρ
· ∂x(

η

ρ
)
)2

< 29 >

−24
∂xρ

ρ

(
d(
η

ρ
) · η
ρ

)(
d∂x(

η

ρ
) · ∂x(

η

ρ
)
)

< 30 >

−24(
∂xρ

ρ
)2
(
d(
η

ρ
) · η
ρ

)(
d∂x(

η

ρ
) · η
ρ

)
< 31 >

+24
∂xρ

ρ
∂x(

dρ

ρ
)
(
d(
η

ρ
) · η
ρ

)(η
ρ
· ∂x(

η

ρ
)
)

< 32 >

+24(
∂xρ

ρ
)2dρ

ρ

(
d(
η

ρ
) · η
ρ

)(
∂x(

η

ρ
) · η
ρ

)
, < 33 >

(5) = 24
(
d(
η

ρ
) +

dρ

ρ

η

ρ
· ∂x(

η

ρ
) +

∂xρ

ρ

η

ρ

)
×
(
d(
η

ρ
) +

dρ

ρ

η

ρ
· ∂2

x(
η

ρ
) + ∂x(

∂xρ

ρ
)
η

ρ

)
+
∂xρ

ρ
∂x(

η

ρ
)
)

= 24
[(
d(
η

ρ
) · ∂x(

η

ρ
)
)

+
∂xρ

ρ

(
d(
η

ρ
) · η
ρ

)
+
dρ

ρ

(η
ρ
· ∂x(

η

ρ
)
)]

×
[(
d(
η

ρ
) · ∂2

x(
η

ρ
)
)

+ ∂x(
∂xρ

ρ
)
(
d(
η

ρ
) · η
ρ

)
+
∂xρ

ρ

(
d(
η

ρ
) · ∂x(

η

ρ
)
)

+
dρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)

+
dρ

ρ

∂xρ

ρ

(η
ρ
· ∂x(

η

ρ
)
)]

= 24
(
d(
η

ρ
) · ∂x(

η

ρ
)
)(
d(
η

ρ
) · ∂2

x(
η

ρ
)
)

< 34 >
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+24∂x(
∂xρ

ρ
)
(
d(
η

ρ
) · ∂x(

η

ρ
)
)(
d(
η

ρ
) · η
ρ

))
< 35 >

−24
dρ

ρ

(
d(
η

ρ
) · ∂x(

η

ρ
)
)(η

ρ
· ∂2

x(
η

ρ
)
)

< 36 >

−24
dρ

ρ

∂xρ

ρ

(
d(
η

ρ
) · ∂x(

η

ρ
)
)(η

ρ
· ∂x(

η

ρ
)
)

< 37 >

+24
∂xρ

ρ

(
d(
η

ρ
) · η
ρ

)(
d(
η

ρ
) · ∂2

x(
η

ρ
)
)

< 38 >

+24(
∂xρ

ρ
)2
(
d(
η

ρ
) · η
ρ

)(
d(
η

ρ
) · ∂x(

η

ρ
)
)

< 39 >

−24
dρ

ρ

∂xρ

ρ

(
d(
η

ρ
) · η
ρ

)(η
ρ
· ∂2

x(
η

ρ
)
)

< 40 >

−24
dρ

ρ
(
∂xρ

ρ
)2
(
d(
η

ρ
) · η
ρ

)(η
ρ
· ∂x(

η

ρ
)
)

< 41 >

+24
dρ

ρ

(η
ρ
· ∂x(

η

ρ
)
)(
d(
η

ρ
) · ∂2

x(
η

ρ
)
)

< 42 >

+24
dρ

ρ
∂x(

∂xρ

ρ
)
(η
ρ
· ∂x(

η

ρ
)
)(
d(
η

ρ
) · η
ρ

)
< 43 >

+24
dρ

ρ

∂xρ

ρ

(η
ρ
· ∂x(

η

ρ
)
)(
d(
η

ρ
) · ∂x(

η

ρ
)
)
. < 44 >

O(η4) contribution from [The terms with dh]η2 in Lτ0,η2 :

= − 24
d(η · ∂xη)

ρ2

∂xρ
2

ρ2

dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

︸ ︷︷ ︸
O(η4)

− 48
d(η · ∂xη)

ρ2
∂x(

dρ

ρ
)
(
∂x(

η

ρ
) · η
ρ

)
︸ ︷︷ ︸

O(η4)

+ 24
d(η · ∂xη)

ρ2

(
∂xd(

η

ρ
) · ∂x(

η

ρ
)
)

︸ ︷︷ ︸
O(η4)

= −24d
(η
ρ
· ∂x(

η

ρ
)
)∂xρ2

ρ2

dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)

< 45 >

−24
(
d(
η

ρ
) · ∂x(

η

ρ
)
)
∂x(

dρ2

ρ2
)
(
∂x(

η

ρ
) · η
ρ

)
< 46 >

−24
(η
ρ
· d∂x(

η

ρ
)
)
∂x(

dρ2

ρ2
)
(
∂x(

η

ρ
) · η
ρ

)
< 47 >

−24
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)
∂x(

dρ2

ρ2
)
(
∂x(

η

ρ
) · η
ρ

)
< 48 >

+24
(
d(
η

ρ
) · ∂x(

η

ρ
)
)(
d∂x(

η

ρ
) · ∂x(

η

ρ
)
)

< 49 >

+24
(η
ρ
· d∂x(

η

ρ
)
)(
d∂x(

η

ρ
) · ∂x(

η

ρ
)
)

< 50 >

+24
dρ2

ρ2

(η
ρ
· ∂x(

η

ρ
)
)(
d∂x(

η

ρ
) · ∂x(

η

ρ
)
))
. < 51 >

O(η4) contribution from [The terms with dh]η4

= −48
dρ2

ρ2

(η
ρ
· d(

η

ρ
)
)(∂xη

ρ
· ∂x(

∂xη

ρ
)
)
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= −48
dρ2

ρ2

(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)

< 52 >

−48
dρ2

ρ2

(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
∂x(

∂xρ

ρ
) < 53 >

−48
dρ2

ρ2

(η
ρ
· d(

η

ρ
)
)∂xρ
ρ

(η
ρ
· ∂2

x(
η

ρ
)
)

< 54 >

−48
dρ2

ρ2

(η
ρ
· d(

η

ρ
)
)

(
∂xρ

ρ
)2
(η
ρ
· ∂x(

η

ρ
)
)
. < 55 >

The terms < 1 >∼< 55 > are combined without repetition to get canceled against each
other.

< 1 > + < 29 > + < 45 > + < 48 >= d
{
− 12

∂xρ
2

ρ2

dρ2

ρ2

(η
ρ
· ∂(

η

ρ
)
)2}

, · · · · · · d− boundary

< 2 > + < 42 >= 0,

< 3 > + < 27 > + < 51 >= 0,

< 4 > + < 25 > + < 46 >= 0,

< 5 > + < 36 >= 0,

< 6 > + < 34 > + < 49 >= 0,

< 7 > + < 13 > + < 23 > + < 50 >= 0,

{< 8 > + < 24 > + < 30 >}+ {< 16 > + < 38 >}

= −24
∂xρ

ρ

(η
ρ
· d(

η

ρ
)
)(η

ρ
· d∂2

x(
η

ρ
)
)

+ 24∂x(
∂xρ

ρ
)
(
d(
η

ρ
) · η
ρ

)(
d∂x(

η

ρ
) · η
ρ

)
+{(16) + (38)}

= 24∂x(
∂xρ

ρ
)
(
d(
η

ρ
) · η
ρ

)(
d∂x(

η

ρ
) · η
ρ

)
(A)

−24d(
∂xρ

ρ
)
(η
ρ
· d(

η

ρ
)
)(η

ρ
· ∂2

x(
η

ρ
)
)

(B)

+d
{

24
∂xρ

ρ

(η
ρ
· d(

η

ρ
)
)(η

ρ
· ∂2

x(
dρ

ρ
)
)}
, · · · · · · · · · d− boundary

< 9 > + < 47 >

= 24
(
∂x(

η

ρ
) · d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
∂x(

dρ2

ρ2
) + 24

(η
ρ
· d(

η

ρ
)
)(
∂2
x(
η

ρ
) · η
ρ

)
∂x(

dρ2

ρ2
)

= d
{

12
(
∂x(

η

ρ
) · η
ρ

)
)2
∂x(

dρ2

ρ2
)
}

−24
(
∂x(

η

ρ
) · η
ρ

)
)(
d∂x(

η

ρ
) · η
ρ

)
∂x(

dρ2

ρ2
)

+24
(η
ρ
· d(

η

ρ
)
)(
∂2
x(
η

ρ
) · η
ρ

)
∂x(

dρ2

ρ2
)

= d
{

12
(
∂x(

η

ρ
) · η
ρ

)
)2
∂x(

dρ2

ρ2
)
}

−(< 9 > + < 47 >)

−24
(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
∂2
x(
dρ2

ρ2
)

+24
(η
ρ
· d(

η

ρ
)
)(
∂2
x(
η

ρ
) · η
ρ

)
∂x(

dρ2

ρ2
)

= d
{

6
(
∂x(

η

ρ
) · η
ρ

)
)2
∂x(

dρ2

ρ2
)
}
· · · · · · · · · d− boundary
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−12
(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
∂2
x(
dρ2

ρ2
) (C)

+12
(η
ρ
· d(

η

ρ
)
)(
∂2
x(
η

ρ
) · η
ρ

)
∂x(

dρ2

ρ2
), (D)

< 10 > + < 18 > + < 52 >= 0,

< 11 > + < 21 > + < 54 >= 0,

< 26 > + < 44 >= 0,

< 28 > + < 37 > + < 40 >= −24
dρ

ρ

∂xρ

ρ
∂x

[(
d(
η

ρ
) · η
ρ

)(η
ρ
· ∂x(

η

ρ
)
)]
, (E)

< 12 > +{< 19 > + < 53 >}+ {< 32 > + < 43 >}

= −96
(η
ρ
· d(

η

ρ
)
)∂xρ
ρ
∂x(

dρ

ρ
)
(η
ρ
· ∂x(

η

ρ
)
)
− 48

dρ

ρ
∂x(

∂xρ

ρ
)
(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
+24∂x(

∂xρ

ρ

dρ

ρ
)
(
d(
η

ρ
) · η
ρ

)(η
ρ
· ∂x(

η

ρ
)
)

= −48
(η
ρ
· d(

η

ρ
)
)∂xρ
ρ
∂x(

dρ

ρ
)
(η
ρ
· ∂x(

η

ρ
)
)

(F )

−24∂x(
dρ

ρ

∂xρ

ρ
)
(η
ρ
· d(

η

ρ
)
)(
∂x(

η

ρ
) · η
ρ

)
, (G)

< 14 > + < 35 >

= d
{
− 24∂x(

∂xρ

ρ
)
(
d(
η

ρ
) · η
ρ

)(
∂x(

η

ρ
) · η
ρ

)}
· · · · · · · · · d− boundary

+24d∂x(
∂xρ

ρ
)
(
d(
η

ρ
) · η
ρ

)(
∂x(

η

ρ
) · η
ρ

)
(H)

−24∂x(
∂xρ

ρ
)
(η
ρ
· d(

η

ρ
)
)(η

ρ
· d∂x(

η

ρ
)
)
, (I)

< 15 > + < 17 > + < 31 > + < 39 >

= d
{
− 24(

∂xρ

ρ
)2
(
d(
η

ρ
) · η
ρ

))(η
ρ
· ∂x(

η

ρ
)
)}

· · · · · · · · · d− boundary

+48
∂xρ

ρ
d(
∂xρ

ρ
)
(
d(
η

ρ
) · η
ρ

))(η
ρ
· ∂x(

η

ρ
)
)
, (J)

< 20 > + < 33 > + < 41 >= 0,

< 22 > + < 55 >= 0.

For the terms (A) ∼ (J) further combinations are taken without repetition to find can-
cellation

(A) + (I) = 0,

(B) + (D) = 0,

(C) + (H) = 0,

(E) + (G) = 0,

(F ) + (J) = 0.
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Summary 2 for Lτ0,η4� �
[The terms without dh]η4

= d
{
− 12

∂xρ
2

ρ2

dρ2

ρ2

(η
ρ
· ∂(

η

ρ
)
)2}

+d
{

24
∂xρ

ρ

(η
ρ
· d(

η

ρ
)
(η
ρ
· ∂2

x(
dρ

ρ
)
)}

+d
{

6
(
∂x(

η

ρ
) · η
ρ

)
)2
∂x(

dρ2

ρ2
)
}

+d
{
− 24∂x(

∂xρ

ρ
)
(
d(
η

ρ
) · η
ρ

)(
∂x(

η

ρ
) · η
ρ

)}
+d
{
− 24(

∂xρ

ρ
)2
(
d(
η

ρ
) · η
ρ

))(η
ρ
· ∂x(

η

ρ
)
)}

� �
3.1.4 Lτ0,η6

Lτ0,η6 = 48
(η
ρ
· dη
ρ

)
∂x

(η
ρ
· dη
ρ

)(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

−96
(η
ρ
· dη
ρ

)(∂xη
ρ
· dη
ρ

)(∂xη
ρ
· ∂

2
xη

ρ

)
. (1)

The term to O(η6) coming from [The terms with dh]η4 in Lτ0,η4

= − 48
(η
ρ
· dη
ρ

)d(η · ∂xη)

ρ2

(∂xη
ρ
· ∂x(

∂xη

ρ
)
)

︸ ︷︷ ︸
O(η6)

, (2)

(1) + (2) = 0.

3.2 Lτ1

The Lagrangian density to O(τ1) has been given in the beginning of this Section by

Lτ1 = 48
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
∂x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ
(1)

+12
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
×
[
− 4εlmn

∂xηl
ρ

τ

ρ
∂x(

dηm
ρ

∂xηn
ρ

)− 4εlmn∂x(
dηl
ρ

τ

ρ
)
∂xηm
ρ

∂xηn
ρ

(2)

+48εlmn
dηl
ρ

d∂xηm
ρ

∂xηn
ρ

τ

ρ
(3)

−24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

(
d(
τ

ρ
)− dρ

ρ

τ

ρ

)
(4)

+24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

dηn
ρ

(
∂x(

τ

ρ
)− ∂xρ

ρ

τ

ρ

)
(5)

−48
(dη
ρ
· dη
ρ

)τ
ρ

∂xη1

ρ

∂xη2

ρ

∂xη3

ρ
(6)

+24εlmn
∂xηl
ρ

∂xηm
ρ

dηn
ρ

(
d(
τ

ρ
)− dρ

ρ

τ

ρ

)]
. (7)
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The terms (1) ∼ (4) are combined to get canceled against each other.

(1) = 48
[dh
ρ2

+
(η
ρ
· dη
ρ

)]dρ2

ρ2
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ
, (a)

(2) = 48∂x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

dηm
ρ

∂xηn
ρ

τ

ρ

+48
[dh
ρ2

+
(η
ρ
· dη
ρ

)][
εlmn∂x(

∂xηl
ρ

)
dηm
ρ

∂xηn
ρ

τ

ρ
− εlmn∂x(

dηl
ρ

)
∂ηm
ρ

∂ηn
ρ

τ

ρ

]
= 24∂x

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

dηm
ρ

∂xηn
ρ

τ

ρ
(b)

+24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
(−∂xρ

2

ρ2
)εlmn

∂xηl
ρ

dηm
ρ

∂xηn
ρ

τ

ρ
(c)

+24
[dρ2

ρ2
− 2
(dη
ρ
· ∂xη
ρ

)]
εlmn

∂xηl
ρ

dηm
ρ

∂xηn
ρ

τ

ρ
(d)

+48
[dh
ρ2

+
(η
ρ
· dη
ρ

)][1

2
εlmn

dηm
ρ
∂x

(∂xηn
ρ

∂xηl
ρ

)τ
ρ
− εlmn∂x(

dηl
ρ

)
∂ηm
ρ

∂ηn
ρ

τ

ρ

]
, (e)

(3) = 24εlmn
dηl
ρ
d
(∂xηm

ρ

∂xηn
ρ

)τ
ρ

+ 48εlmn
dηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

dρ

ρ

= −d
{

24εlmn
dηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

}
· · · · · · · · · d− boundary

−24εlmn
dηl
ρ

∂xηm
ρ

∂xηn
ρ

d(
τ

ρ
) + 72εlmn

dηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

dρ

ρ
, (f)

(4) = d
{

24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

}
+24

[dh
ρ2

+
(η
ρ
· dη
ρ

)]
(−dρ

2

ρ2
)εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

−24
(dη
ρ
· dη
ρ

)
)
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

+24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

dρ

ρ

+24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
3εlmnd(

∂xηl
ρ

)
∂xηm
ρ

∂xηn
ρ

τ

ρ

= d
{

24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

}
· · · · · · · · · d− boundary

+24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
(−dρ

2

ρ2
)εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ
(g)

−24
[(dη

ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ
(h)

+24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

dρ

ρ
(i)

+24
[dh
ρ2

+
(η
ρ
· dη
ρ

)][
3εlmn∂x(

dηl
ρ

)
∂xηm
ρ

∂xηn
ρ

τ

ρ
(j)

+3εlmn
dηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

∂xρ

ρ

τ

ρ
(k)

−3εlmn
∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

dρ

ρ

]
. (l)

The terms (a) ∼ (l) are combined with (5) ∼ (7) to get simplified as

(a) + (g) + (i) + (l) = 0,

(b) + (c) + (e) + (j) + (k) + (5) = ∂x

{
24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

dηm
ρ

∂xηn
ρ

τ

ρ

}
= 0,
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(d) + (f) + (7) = −48
(dη
ρ
· ∂xη
ρ

)
εlmn

∂xηl
ρ

dηm
ρ

∂xηn
ρ

τ

ρ

= 48
dηk
ρ

(εkln
∂xη1

ρ

∂xη2

ρ

∂xη3

ρ
)εlmn

dηm
ρ

τ

ρ
,

(h) + (6) = −32
(dη
ρ
· dη
ρ

)
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ
,

{(d) + (f) + (7)}+ {(h) + (6)} = 0.

Summary for Lτ1� �
Lτ1 = −d

{
24εlmn

dηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

}
+ d
{

24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

}
� �
3.3 Lτ2

The Lagrangian density to O(τ2) has been given in the beginning of this Section by

Lτ2 = 24
(dη
ρ
· dη
ρ

)τ
ρ

∂xτ

ρ

+48
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
(
∂xτ

ρ
− 2

∂xρ

ρ

τ

ρ
)(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)

−24(
dτ

ρ
− 2

dρ

ρ

τ

ρ
)2 − 48

(dη
ρ
· ∂xη
ρ

)τ
ρ

dτ

ρ
.

We take expansion in η

Lτ2 = Lτ2,η0 + Lτ2,η2 ,

with

Lτ2,η0 = 48
dh

ρ2

(
∂x(

τ

ρ
)− ∂xρ

ρ

τ

ρ

)(
d(
τ

ρ
)− dρ

ρ

τ

ρ

)
(1)

−24
(
d(
τ

ρ
)− dρ

ρ

τ

ρ

)2
, (2)

Lτ2,η2 = 24
(dη
ρ
· dη
ρ

)τ
ρ

∂xτ

ρ
(3)

+48
(η
ρ
· dη
ρ

)(
∂x(

τ

ρ
)− ∂xρ

ρ

τ

ρ

)(
d(
τ

ρ
)− dρ

ρ

τ

ρ

)
(4)

−48
(dη
ρ
· ∂xη
ρ

)τ
ρ

dτ

ρ
. (5)

The terms (1), (2), (4) are calculated as follows.

(1) = 48
dh

ρ2

[
∂x(

τ

ρ
)d(

τ

ρ
)− ∂xρ

ρ

τ

ρ
d(
τ

ρ
)− dρ

ρ
∂x(

τ

ρ
)
τ

ρ

]
= 24

{
− d
[dh
ρ2
∂x(

τ

ρ
)
τ

ρ

]
+
dh

ρ2

dρ2

ρ2
∂x(

τ

ρ
)
τ

ρ
− dh

ρ2
d∂x(

τ

ρ
)
τ

ρ

}
+24

{
∂x

[dh
ρ2

τ

ρ
d(
τ

ρ
)
]

+
dh

ρ2

∂xρ
2

ρ2

τ

ρ
d(
τ

ρ
)− dh

ρ2

τ

ρ
d∂x(

τ

ρ
)

−d∂xh
ρ2

τ

ρ
d(
τ

ρ
)
}

+48
dh

ρ2

[
− ∂xρ

ρ

τ

ρ
d(
τ

ρ
)− dρ

ρ
∂x(

τ

ρ
)
τ

ρ

]
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= −24d
[dh
ρ2
∂x(

τ

ρ
)
τ

ρ

]
− 24

d∂xh

ρ2

τ

ρ
d(
τ

ρ
) + ∂ − boundary

= −24d
[dh
ρ2
∂x(

τ

ρ
)
τ

ρ

]
· · · · · · d− boundary

−24
dρ2

ρ2

τ

ρ
d(
τ

ρ
) < a >

− 24
1

ρ2
d
(
η · ∂xη

)τ
ρ
d(
τ

ρ
)︸ ︷︷ ︸

O(η2)

,

(2) = −24
[
d(
τ

ρ
) · d(

τ

ρ
)− 2d(

τ

ρ
)
dρ

ρ

τ

ρ

]
= −24d

[
(
τ

ρ
)d(

τ

ρ
)
]
· · · · · · d− boundary

+48d(
τ

ρ
)
dρ

ρ

τ

ρ
, < b >

(4) = 48
(η
ρ
· dη
ρ

)[
∂x(

τ

ρ
)d(

τ

ρ
)− dρ

ρ
∂x(

τ

ρ
)
τ

ρ

]
< c >

−− 48
(η
ρ
· dη
ρ

)∂xρ
ρ

τ

ρ
d(
τ

ρ
). < d >

Contribution to Lτ2.η2 from the calculation of Lτ2.η0

< Lτ2,η2 >from 0(η0)

= 24
[ 1

ρ2

(
dη · ∂xη

)
+
(η
ρ
· d∂xη

ρ

)]τ
ρ
d(
τ

ρ
)

= 24
[(dη

ρ
· ∂x(

η

ρ
)
)

+
(η
ρ
· ∂x(

dη

ρ
)
)]τ
ρ
d(
τ

ρ
)

= 24
[
2
(dη
ρ
· ∂x(

η

ρ
)
)τ
ρ
d(
τ

ρ
)

−
(η
ρ
· dη
ρ

)
∂x(

τ

ρ
)d(

τ

ρ
)

−
(η
ρ
· dη
ρ

)τ
ρ
d∂x(

τ

ρ
)
]

= 24
[
2
(dη
ρ
· ∂x(

η

ρ
)
)τ
ρ
d(
τ

ρ
) < e >

−
(η
ρ
· dη
ρ

)
∂x(

τ

ρ
)d(

τ

ρ
) < f >

−
(dη
ρ
· dη
ρ

)τ
ρ
∂x(

τ

ρ
) < g >

−
(η
ρ
· dη
ρ

)dρ2

ρ2

τ

ρ
∂x(

τ

ρ
) < h >

+
(η
ρ
· dη
ρ

)
d(
τ

ρ
)∂x(

τ

ρ
)
]

< i >

+d
[
24
(η
ρ
· dη
ρ

)τ
ρ
∂x(

τ

ρ
)
]
. · · · · · · · · · d− boundary

In the sum < a > + · · ·+ < i > we find cancellations among the terms

< a > + < b >= 0,

< c > + < f > + < h > + < i >= 0,

(3)+ < g >= 0,
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(5)+ < d > + < e > 0.

Summary for Lτ2� �
Lτ2 = −d

[
24
dh

ρ2
∂x(

τ

ρ
)
τ

ρ

]
− d
[
24(

τ

ρ
)d(

τ

ρ
)
]

+ d
[
24
(η
ρ
· dη
ρ

)τ
ρ
∂x(

τ

ρ
)
]

� �

This is the end of the long calculations of∫
dx2dθ1dθ2dθ3[yεijkDiDjDky]θ3 =

∫
dx2(Lτ0 + Lτ1 + Lτ2).

We have shown that there remains only d− boundary terms as∫
dx2dθ1dθ2dθ3[yεijkDiDjDky]θ3

=
1

6
d

∫
dx
[
− 6
{

log ρ2∂xd(log ρ2) + ∂x(
1

ρ2
)∂x(

1

ρ2
)dhρ2)

}
+
{
− 6

∂xρ
2

ρ2

∂xρ
2

ρ2

dh

ρ2

(η
ρ
· ∂xη
ρ

)
+ 48

dh

ρ2

∂xρ

ρ

(η
ρ
· ∂2

x(
η

ρ
)
)

+24
dh

ρ2

(
∂x(

η

ρ
) · ∂2

x(
η

ρ
)
)}

+
{
− 24

dρ2

ρ2

(
∂2
x(
η

ρ
) · η
ρ

)
+ 24

(
∂x(

η

ρ
) · ∂xd(

η

ρ
)
)}

+
{
− 12

∂xρ
2

ρ2

dρ2

ρ2

(η
ρ
· ∂(

η

ρ
)
)2

+ 24
∂xρ

ρ

(η
ρ
· d(

η

ρ
)
(η
ρ
· ∂2

x(
dρ

ρ
)
)

+6
(
∂x(

η

ρ
) · η
ρ

)
)2
∂x(

dρ2

ρ2
)
}

−24∂x(
∂xρ

ρ
)
(
d(
η

ρ
) · η
ρ

)(
∂x(

η

ρ
) · η
ρ

)}
−24(

∂xρ

ρ
)2
(
d(
η

ρ
) · η
ρ

))(η
ρ
· ∂x(

η

ρ
)
)}

+
{

24εlmn
dηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

+24
[dh
ρ2

+
(η
ρ
· dη
ρ

)]
εlmn

∂xηl
ρ

∂xηm
ρ

∂xηn
ρ

τ

ρ

}
−24

{dh
ρ2
∂x(

τ

ρ
)
τ

ρ
+ (

τ

ρ
)d(

τ

ρ
)−

(η
ρ
· dη
ρ

)τ
ρ
∂x(

τ

ρ
)
}]
.

4 Calculation of S(f, ϕ;x, θ) and [∆
1
2εklmϕkϕlϕm]θ3

The N = 3 super-Schwarzian derivative is given by

S(f, ϕ;x, θ) =
2

∆
(εpnlDnDlϕk)Dpϕk.
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It is expanded in components as

S(f, ϕ;x, θ) = 2
[τ
ρ

+
1

2ρ2
εpnlθpτnτl

+
(
− 1

2ρ3
(θ · τ)2τ +

1

ρ2
εpnlθpθnτl∂xρ−

1

2ρ
εpnlθpθn∂xτl

)
− 1

6ρ2
εpnlθpθnθl

(
τ∂xτ + (τ · ∂xτ)− 2(∂xρ)2 + ρ∂2

xρ
)]
.

Here use was of made of the constraints.
The N = 3 super-Schwarzian theory contains a quantity ∆

1
2 εklmϕkϕlϕm in addition

to the above Schwarzian derivative. The top component is calculated as

[∆
1
2 εklmϕkϕlϕm]θ3 = ρ4 − 3ρ2(η · τ) +

3

2
(η · τ)2

+
1

2
εklmηkηl(ρrm) +

1

6
εklmηkηlηl

(1

ρ
(r · τ) + ∂xτ − 2

∂xρ

ρ
τ − 1

2ρ2
(θ · τ)3

)
.

By using the constraints it becomes

[∆
1
2 εklmϕkϕlϕm]θ3 = ρ4 − 3ρ2(η · τ) + 2(η · τ)2 +

1

6
εklmηkηlηl

(
− 2

∂xρ

ρ
τ
)
.
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